光學作業 應物三甲 0932365 張勝騏
Problem 9-13

     a. A monochromator is used to obtain quasi-monochromatic light from a tungsten lamp. The linear dispersion of the instrument is 20 
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 is used. What is the coherence time and length of the light from the monochromator when set to give light of mean wavelength 500 nm?
     b. This light is used to from fringes in an interference experiment in which the light is first amplitude-split into two equal parts and then brought together again. If the optical path difference between the two paths is 0.400 mm, calculate the magnitude of the normalized correlation function and the visibility of the resulting fringes.
     c. If the maximum irradiance produced by the fringes is 100 on an arbitrary scale, what is the difference between maximum irradiance and background irradiance on this scale?
ANS:
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 EMBED Equation.3  [image: image8.wmf](
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b. the magnitude of normalized correlation function   
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c.   
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